Name _____________________________________________________
Quiz #3, Math 0900, Summer 2006 

1. Solve the linear inequality 
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.  Graph the solution on the number line, and then write the solution in set notation.







11/3 →
{x | x ≥ 11/3}
2. Write the equation needed to solve the following mixture problem.  DO 
NOT SOLVE!  Just write the equation.

How many ounces of a 60% alcohol solution must be mixed with 75 ounces of a 12% alcohol solution to make a 35% alcohol solution?

(x + 75)(.35) = x(.60) + (75)(.12)
3. A cylinder with radius 3 inches and height 4 inches has its radius tripled.  How many times greater is the volume of the larger cylinder than the smaller cylinder?
The volume of a cylinder is given by 
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